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àíZnÌ hb H$aZo go nhbo H¥$n`m ZrMo {X`o JE {ZX}em| H$mo Ü`mZnyd©H$ n‹T>| :
(1)	 Bg àíZnÌ Ho$ Xmo ^mJ h¢& {Og‘| go ^mJ - I ‘| àW‘ ^mfm {df` go g§~§{YV 1 go 25 Am¡a ^mJ II ‘| J{UV 

{df` go g§~§{YV 26 go 75 àíZ nyN>o JE h¢& g^r 75 àíZ hb H$aZm A{Zdm`© h¡&
(2)	 àË`oH$ àíZ 2 A§H$ Ho$ {bE h¡&
(3)	 àíZnÌ hb H$aZo Ho$ {bE Hw$b 90 {‘ZQ> H$m g‘` {X`m OmEJm&
(4)	 CÎma XoZo Ho$ {bE ñdV§Ì CÎman{ÌH$m Xr OmEJr& àË`oH$ àíZ H«$‘m§H$ Ho$ gm‘Zo Mma {dH$ën Ho$ {bE H«$‘mZwgma 

XrK©d¥Îm {XE JE h¢& {OZ‘| go ghr CÎma - {dH$ën Ho$ XrK©d¥Îm H$mo ZrMo {XE JE CXmhaUmZwgma ^a|& 
	 CXm. àíZ H«$. 6 H$m ghr CÎma {dH$ën H«$. 2 h¡, Vmo AmJo {XE AZwgma CÎma ^a|& 
	 àíZ H«$. 6 				    1 1 3 4
(5)	 ZrMo {X`o JE CXmhaU Ho$ AZwgma A§{H$V {H$E JE CÎma ñdrH$m`© Zht {H$E Om`|Jo& Bg àH$ma A§{H$V {H$E JE 

àíZ Ho$ CÎma H$mo "eyÝ`' A§H$ {XE Om`|Jo& 	 1 2 4
(6)	 àË`oH$ àíZ Ho$ {bE EH$ go A{YH$ XrK©d¥Îm ‘| CÎma A§{H$V {H$¶o JE, {MÝhm§{H$V {H$`o JE CÎma H$m ‘yë`m§H$Z 

Zht {H$`m OmEJm&
(7)	 EH$ ~ma A§{H$V {H$E JE CÎma Xmo~mam ~Xbo Zht Om gH$Vo&
(8)	 {dH$ën Ho$ CÎma A§{H$V H$aZo Ho$ {bE Ho$db H$mbo Am¡a Zrbo a§J Ho$ ~m°bnoZ H$m hr BñVo‘mb H$a|& nopÝgb go 

A§{H$V CÎma ñdrH$m`© Zht {H$E Om`|Jo&
(9)	 àíZnÌ Ho$ àË`oH$ n¥ð> Ho$ ZrMo Am¡a A§{V‘ n¥ð> na H$ƒo H$m‘ (Rough work) Ho$ {bE Imbr OJh h¡, dht 

H$ƒm H$m‘ (Rough work) H$a|&
(10)	narjm H$s Ad{Y ‘`m©{XV hmoZo Ho$ H$maU `{X {H$gr àíZ H$m CÎma AmnH$mo Zht nVm hmo Vmo AmJo Ho$ àíZ hb 

H$a|& A§V ‘| g‘` ~MZo na ah JE àíZm| Ho$ {bE nwZ… à`mg H$a|&
(11)	 {H$gr àíZ ‘| Ìw{Q>/JbVr n[ab{jV hmoZo na n`©dojH$ `m narjm H|$Ð g§MmbH$ go {dMma {d‘e© Zm H$a|& 
(12)	àíZ ‘| Ìw{Q>/JbVr/BgHo$ g§~§Y ‘| {ZdoXZ {dÚmb` AWdm A{^^mdH$m| Ûmam g‘yh {ejUm{YH$mar `m 

{ejUA{YH$mar Ho$ nmg {bpIV ê$n ‘| Z ^oOH$a g§~§{YV {dÚmb` Ho$ bm°{JZ go Am°ZbmBZ nÕ{V go hr ^oO|& 
(13)	Ìw{Q>/JbVr/BgHo$ g§~§Y ‘| {ZdoXZ Am°ZbmBZ n{ÕV go ̂ oOZo H$s Ad{Y narjm n[afX Ho$ {ZX}e ñWmZ go A§V[a‘ 

(AñWm`r) CÎma gyMr Ho$ ào{fV hmoZo go boH$a 10 (Xg) {XZ VH$ ahoJr&
(14)	Q>§H$U Xmof `m AÝ` H$maU go àíZ JbV n[ab{jV hmoZo na {deofk g{‘{V Ho$ {ZU©`mZwgma `mo½` H$m`©dmhr H$s 

Om`oJr&
(15)	‘yb ‘mÜ`‘ Ho$ gmW A§J«oOr ^mfm ‘| ^r àíZnÌ {X`m J`m h¡& ‘yb ‘mÜ`‘ Ho$ g§{X½Y àíZm| Ho$ {bE A§J«oOr àíZ 

XoI|&

nyd© Cƒ àmW{‘H$ {eî¶d¥Îmr narjm (H$jm 5 dt), ‘o 2021

nona H«$. - I	 ‘mÜ¶‘ … {hÝXr	 doi : 11:00 Vo 12:30

n¥îR> : 32	  àW‘ ^mfm d J{UV	 EHy$U JwU : 150

~¡R>H$ H«$.

0 3 0 1
g§M A
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SPACE FOR ROUGH WORK

^mJ - I

{hÝXr

01.	 {nVmOr Zo  go àíZ nyN>m& [a³V ñWmZ ‘| {ZåZ{b{IV ‘| go H$m¡Zgm gd©Zm‘ 
¶mo½¶ h¡?

	 (1)	 ‘¢			   (2)	 ‘oao
	 (3)	 H$m¡Z			   (4)	 h‘

02.	 {ZåZ{b{IV n¶m©¶m| ‘| "~§Xa' H$m dMZ ~XbH$a AmZodmbm eãX H$m¡Zgm h¡?
	 (1)	 ~§Xao			   (2)	 ~§Xam|
	 (3)	 ~§Xa			   (4)	 ~§Xa|

03.	 {ZåZ{b{IV ‘| go ewÕ eãX nhMm{ZE:
	 (1)	 {d{^Þ			   (2)	 {d^rÝZ
	 (3)	 {d{^ÝZ			   (4)	 dr{^Þ

04.	 {ZåZ{b{IV ‘| go "‘¢ XmXmOr Ho$ gmW Ky‘Zo OmVm hÿ±' Bg dm³¶ H$mo ^{dî¶V²H$mb ‘| 
~XbH$a hmoZodmbm dm³¶ H$m¡Zgm h¡?

	 (1)	 ‘¢ XmXmOr Ho$ gmW Ky‘Zo OmD±$Jm&
	 (2)	 ‘¢ XmXmOr Ho$ gmW Ky‘Zo J¶m&
	 (3)	 ‘¢ XmXmOr Ho$ gmW Ky‘Zo Om ahm hÿ±&
	 (4)	 ‘¢ XmXmOr Ho$ gmW Ky‘Zo J¶m Wm&

05.	 {ZåZ{b{IV eãXm| ‘| go CngJ©g{hV eãX H$m¡Zgm h¡?
	 (1)	 B©‘mZXma			   (2)	 {dkmZ
	 (3)	 ~w‹T>mnm			   (4)	 ghm¶Vm
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06.	 "~‹T>m-M‹T>mH$a IwX H$s ~‹S>mB© H$aZm' Bg AW© ‘| {ZåZ{b{IV ‘| go ‘whmdam H$m¡Zgm h¡?
	 (1)	 eoIr ~KmaZm			   (2)	 Vy-Vy-‘¢-‘¢ H$aZm
	 (3)	 {VH$‹S>‘ bJmZm		  (4)	 hmoe C‹S> OmZm

07.	 'Health' eãX H$m qhXr n¶m©¶ h¡:
	 (1)	 {dÚmWu			   (2)	 ZoVm
	 (3)	 ñdmñÏ¶			   (4)	 g§n{Îm

àíZ H«$. 08 go 10 :

	 {ZåZ{b{IV g§dmX Ü¶mZnyd©H$ n‹T>H$a Cg na nyN>o JE àíZm| Ho$ CÎma n¶m©¶m| ‘| go Mw{ZE:

	 {nVmOr : Vwåhmam narjm n[aUm‘ ³¶m ahm?

	 {Za§OZ	 : AmnHo$ Am{edm©X go ‘wPo H$jm ‘| àW‘ ñWmZ {‘bm h¡&

	 {nVmOr : ~hþV AÀN>m! Vwåh| ~hþV-~hþV ~YmB¶m±&

	 ‘mVmOr : ~oQ>m, {dZmoX! Vwåh| {Za§OZ O¡go ~ƒm| Ho$ gmW ahZm Mm{hE&

	 {nVmOr : AÀN>r g§J{V go Ag§^d H$m¶© ^r g§^d hmo OmVm h¡& H$m¡Am, H$mo¶b Am¡a

		     ~Jwbm h§g ~Z OmVm h¡&

	 ‘mVmOr : �nmag H$m ñne© nmH$a bmohm gmoZm ~Z OmVm h¡& g§J-gmW go hr ‘Zwî¶ H$s 

nhMmZ hmoVr h¡&

08.	 "’$b' Bg AW© ‘| g§dmX ‘| H$m¡Zgm eãX Am¶m h¡?
	 (1)	 g§^d			   (2)	 g§J{V
	 (3)	 ñne©			   (4)	 n[aUm‘
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09.	 ‘Zwî¶ H$s nhMmZ {H$ggo hmoVr h¡?
	 (1)	 g§J-gmW			   (2)	 CgHo$ H$m¶©
	 (3)	 namonH$ma			   (4)	 ñdmdb§~Z

10.	 bmohm {H$gHo$ ñne© go gmoZm ~Z OmVm h¡?

	 (1)	 h§g			   (2)	 bmohm

	 (3)	 nmag			   (4)	 ~Jwbm

11.	 ^rI ‘m±JVo hþE ~mbH$ H$mo XoI, amhþb.... dm³¶ nyU© H$aZo Ho$ {bE ¶mo½¶ n¶m©¶ Mw{ZE&

	 (1)	 ’y$bm Z g‘m¶m&		  (2)	 K~am J¶m&

	 (3)	 M{H$V hþAm&>>			   (4)	 ~hþV XþIr hþAm&

12.	 {ZåZ{b{IV eãXm| H$mo dU©H«$‘mZwgma bJmH$a Vrgao ñWmZ na AmZodmbm eãX ~VmBE:

	 (1)	 jU			   (2)	 ‘erZ

	 (3)	 Zrbm			   (4)	 A§Jya

13.	 Mm~r¶m| H$m  hmoVm h¡& ¶mo½¶ g‘yh-Xe©H$ eãX Mw{ZE&

	 (1)	 Pw§S>			   (2)	 JwÀN>m

	 (3)	 JwbXñVm			   (4)	 JQ²>R>a

14.	 gw^mfM§Ð ~mog H$mo bmoJ Bg CnZm‘ go ^r OmZVo h¢&

	 (1)	 ‘hmË‘m			   (2)	 ga

	 (3)	 bmoH$‘mÝ¶			   (4)	 ZoVmOr
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15.	 {ZåZ{b{IV eãX-g‘yh Ho$ {bE C{MV eãX Mw{ZE:

	 {dÚmWu¶m| Ho$ ahZo H$s OJh-

	 (1)	 Xodmb¶			   (2)	 N>mÌmdmg

	 (3)	 {dÚmb¶			   (4)	 ‘§Ìmb¶

16.	 ‘oao {nVmOr H$s ~hZ ‘oar  h¡& [aíVo H$m ¶mo½¶ n¶m©¶ Mw{ZE&
	 (1)	 ‘m¡gr			   (2)	 ~wAm
	 (3)	 MmMr			   (4)	 ‘m‘r

17.	 "ZoÌ' eãX H$m g‘mZmWu eãX {ZåZ{b{IV eãXm| ‘| go H$m¡Zgm h¡?
	 (1)	 AYa			   (2)	 H$U©
	 (3)	 Am±I			   (4)	 ZmH$

18.	 {déÕmWu eãXm| H$s ghr Omo‹S>r nhMm{ZE:
	 (1)	 gw~h × em‘			  (2)	 gw~h × amV
	 (3)	 amV × {Zem			   (4)	 g~oam × í¶m‘

19.	 {ZåZ{b{IV eãX nhobr ‘| [aº$ Mm¡IQ>> ‘| H$m¡Zgm Aja aIZo na Am‹S>m Am¡a I‹S>m XmoZm| 
eãX AW©nyU© ~Z|Jo?

Mm a

eo

f

	 (1)	 Am			   (2)	 à
	 (3)	 {d			   (4)	 {Z
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àíZ H«$. 20 go 22
	 {ZåZ{b{IV {dkmnZ ~marH$s go n‹T>H$a Cgna nyN>o JE àíZm| Ho$ CÎmam| H$m ¶mo½¶ n¶m©¶ Mw{ZE&

~{ME, ~{ME......
R>§S> go AnZo AmnH$mo

gwa{jV aI|&
R>§S> H$m ‘m¡g‘ ewé hþAm h¡& Hw$N> {XZm| go Á¶mXm hr R>§S> n‹S>Zo bJr h¡& {Oggo 
àË¶oH$ H$mo {deof gmdYmZr ~aVZr hmoJr&
{OgHo$ {bE-
v D$Zr H$n‹S>mo H$m Adí¶ Cn¶moJ H$a|&
v h‘oem Ja‘m-Ja‘ ^moOZ H$a|&
v erV nXmW© Z ImE±&
v ImZo ‘| pñZ½Y AWm©V² dgm¶w³V nXmW© A{YH$ hm|&
v gXu-OwH$m‘ hmoZo na Vwa§V S>m°³Q>a Ho$ nmg OmE±&

Amamo½¶ {d^mJ
gmVmam

20.	 "R>§S>' Bg AW© ‘| H$m¡Zgm eãX {ZdoXZ ‘| Am¶m h¡?
	 (1)	 gXu-OwH$m‘			   (2)	 ^moOZ
	 (3)	 ‘m¡g‘			   (4)	 erV

21.	 ^moOZ ‘| H$m¡Zgo nXmWm] H$s ‘mÌm Á¶mXm hmoZr Mm{hE?
	 (1)	 erV			   (2)	 pñZ½Y
	 (3)	 R>§S>			   (4)	 {deof

22.	 R>§S> go ~MZo Ho$ {bE h‘o H$m¡Zgo H$n‹S>o nhZZo Mm{hE?
	 (1)	 gyVr			   (2)	 ßbmpñQ>H$
	 (3)	 D$Zr			   (4)	 Zm¶bm°Z
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àíZ H«$. 23 go 25
	 ZrMo Xr JB© H${dVm H$mo n‹T>H$a nyN>o JE àíZm| Ho$ CÎma {b{IE:
		  ghr g‘¶ na gyaO AmVm, 

	 ghr g‘¶ T>b OmVm h¡,
		  M§Xm ^r {ZV g‘¶ go AmVm,
		  ghr g‘¶ {N>n OmVm h¡&
	 n§N>r gXm g‘¶ na OJVo,
	 Z^ ‘| {’$a C‹S> OmVo h¢,
	 Xÿa-Xÿa VH$ C‹S>H$a OmVo,
	 XmZm-MwJH$a bmVo h¢&
		  gw~h g‘¶ go {IbVr H${b¶m±,
		  {H$aZ XoI ‘wgH$mVr h¢,
		  g§J ndZ Ho$ Py‘-Py‘H$a
		  {ZV gwJ§Y ’¡$bmVr h¢&

23.	 "T>bZm' Bg eãX H$m AW© ³¶m h¡?
	 (1)	 AmZm			   (2)	 MwJZm
	 (3)	 ‘wgH$mZm			   (4)	 Sy>~Zm

24.	 hdm Ho$ gmW H$m¡Z Py‘Vr h¢?
	 (1)	 H${b¶m±			   (2)	 {H$aZ
	 (3)	 n§N>r			   (4)	 M§Xm

25.	 "gXm' Bg AW© ‘| H${dVm ‘| H$m¡Zgm eãX Am¶m h¡?
	 (1)	 {N>n			   (2)	 g§J
	 (3)	 {ZV			   (4)	 ghr
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SECTION - II

MATHEMATICS

26.	 How will you write 500 in Roman numerals?

	 (1)	 L	 (2)	 C

	 (3)	 D	 (4)	 M

27.	 What is the place value of ‘4’ in 10.345?

	 (1)	 0.004	 (2)	 40

	 (3)	 400	 (4)	 0.04

28.	 If 2575 – 836 = 28739, then which digit will be in the box?

	 (1)	 2	 (2)	 3

	 (3)	 5	 (4)	 6

29.	 If the lengths of the sides of an angle are increased, then how does it affect the 

measure of the angle?

	 (1)	 measure of the angle increases 	

	 (2)	 measure of the angle decreases

	 (3)	 measure of the angle remains the same	

	 (4)	 measure of the angle is doubled
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^mJ - II

J{UV

26.	 g§»¶m 500 H$mo amo‘Z g§»¶m{Mh²Z ‘| H¡$go {bIm OmVm h¡?

	 (1)	 L			   (2)	 C
	 (3)	 D			   (4)	 M

27.	 g§»¶m 10.345 ‘| 4 H$m ñWmZr¶ ‘mZ {H$VZm hmoJm?

	 (1)	 0.004			   (2)	 40
	 (3)	 400			   (4)	 0.04

28.	 2575 – 836 = 28739  Vmo  ñWmZ na H$m¡Z-gm A§H$ AmEJm&

	 (1)	 2			   (2)	 3

	 (3)	 5			   (4)	 6

29.	 H$moU H$s XmoZm| ^wOmAm| H$mo ~‹T>mZo na H$moU Ho$ ‘mn ‘| ³¶m A§Va AmVm h¡?

	 (1)	 H$moU H$m ‘mn ~‹T>Vm h¡

	 (2)	 H$moU H$m ‘mn H$‘ hmoVm h¡

	 (3)	 H$moU H$m ‘mn CVZm hr ahVm h¡

	 (4)	 H$moU H$m ‘mn Xmo JwZm hmoVm h¡
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30.	 5 7
3 6 7

4+  = 

	 (1)	 1114
7 	 (2)	 11 49

7

	 (3)	 12	 (4)	 7
39

31.	 Write the number in figures,

	 ‘Eight abja eighty thousand eight hundred and eight’.

	 (1)	 8,08,00,808	 (2)	 8,00,80,808

	 (3)	 80,00,80,808	 (4)	 8,00,00,80,808

32.	 Length of the radius of a circle is 2.5cm and length of a chord of the circle is 

3cm. What is the length of the longest chord of the circle in cm?

	 (1)	 6	 (2)	 5

	 (3)	 3	 (4)	 5.5

33.	 How many composite numbers lie between 1 to 100?

	 (1)	 75	 (2)	 25

	 (3)	 24	 (4)	 74

34.	 What type of angle will be formed, if two lines are perpendicular to each other?

	 (1)	 obtuse	 (2)	 right

	 (3)	 acute	 (4)	 reflex angle
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30.	 5 7
3 6 7

4+  =  {H$VZm ?

	 (1)	 1114
7 			   (2)	 11 49

7

	 (3)	 12			   (4)	 7
39

31.	 "AmR> Aa~ Añgr hOma AmR> gm¡ AmR>' g§»¶m H$mo A§H$m| ‘| {bImo:

	 (1)	 8,08,00,808			   (2)	 8,00,80,808

	 (3)	 80,00,80,808		  (4)	 8,00,00,80,808

32.	 {H$gr d¥Îm H$s {ÌÁ¶m 2.5 go‘r d Ordm 3 go‘r hmo Vmo d¥Îm H$s g~go ~‹S>r Ordm {H$VZr 

go‘r b§~r hmoJr?

	 (1)	 6	 (2)	 5
	 (3)	 3	 (4)	 5.5

33.	 1 go 100 VH$ g§»¶m Ho$ ~rM ‘| {H$VZr g§¶wº$ g§»¶m h¡?

	 (1)	 75	 (2)	 25
	 (3)	 24	 (4)	 74

34.	 Xmo nañna b§~ aoImAm| go {H$g àH$ma H$m H$moU ~ZVm h¡?

	 (1)	 A{YH$ H$moU	 (2)	 g‘H$moU

	 (3)	 Ý¶yZH$moU	 (4)	 à{VdVu H$moU
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35.	 If the numbers 32996, 39296, 229997, 39096 are written in descending order, 

then what will be the sum of the first and third number in that arrangement?

	 (1)	 269093	 (2)	 72292

	 (3)	 269293	 (4)	 262993

36.	 If the circumference of a circle - shaped garden is 88m and Swara takes 5 rounds 
to the garden daily; Then how much distance does she cover in a week?

	 (1)	 3080 km	 (2)	 380 km
	 (3)	 3.08 km	 (4)	 3.8 km

37.	 By how much is the sum of biggest 5-digit number and biggest 2-digit number 
is greater than the smallest 3-digit number?

	 (1)	 1,00,098	 (2)	 99,998
	 (3)	 99,999	 (4)	 1,00,198

38.	 Pradeep bought a mobile for Rs. twenty two and a half thousand and sold the 
same for Rs. nineteen thousand eight hundred and seventy. How much was his 
loss?

	 (1)	 Rs. 2880	 (2)	 Rs. 2600
	 (3)	 Rs. 2630	 (4)	 Rs. 3000

39.	 3
4  + 3

4  + 3
4  + 3

4  + 3
4  + 3

4  = 

	 (1)	 18
24 	 (2)	 3

20

	 (3)	 9
24 	 (4)	 8
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35.	 g§»¶mAm| 32996, 39296, 229997, 39096 g§»¶m H$mo KQ>Vo hþE H«$‘ ‘| {bIZo na nhbr 
d Vrgar g§»¶m H$m ¶moJ ’$b {H$VZm hmoJm?

	 (1)	 269093	 (2)	 72292
	 (3)	 269293	 (4)	 262993

36.	 88 ‘rQ>a n[a{Y dmbo d¥ÎmmH$ma ~mJ H$m ñdam à{V{XZ 5 M¸$a bJmVr h¡, Vmo EH$ gámh 
‘| dh {H$VZo {H$bmo‘rQ>a MbVr h¡?

	 (1)	 3080 {H$‘r	 (2)	 380 {H$‘r
	 (3)	 3.08 {H$‘r	 (4)	 3.8 {H$‘r

37.	 nm±M A§H$m| H$s ~S>r g§»¶m d Xmo A§H$m| H$s ~‹S>r go ~‹S>r g§»¶m H$m ¶moJ’$b 3 A§H$m| 
H$s N>moQ>r go N>moQ>r g§»¶m go {H$VZr A{YH$ hmoJr?

	 (1)	 1,00,098	 (2)	 99,998
	 (3)	 99,999	 (4)	 1,00,198

38.	 àXrn Zo gm‹T>o ~mB©g hOma én¶o H$m EH$ ‘mo~mB©b {b¶m Am¡a Cgo CÝZrg hOma AmR> gm¡ 
gÎma én¶o ‘| ~oM {X¶m& Bg ì¶dhma ‘| Cgo {H$VZo én¶o H$s hm{Z hþB©?

	 (1)	 2880 `	 (2)	 2600 `

	 (3)	 2630 `	 (4)	 3000 `

39.	 3
4  + 3

4  + 3
4  + 3

4  + 3
4  + 3

4  =  {H$VZm?

	 (1)	 18
24 	 (2)	 3

20

	 (3)	 9
24 	 (4)	 8
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40.	 Swarda deposited Rs. 25,000 in a bank at a rate of 8 p.c.p.a for 6 years. How 
much interest will she receive after 6 years?

	 (1)	 Rs. 12,000	 (2)	 Rs. 2,000
	 (3)	 Rs. 1,500	 (4)	 Rs. 1,200

41.	 If the fractions, 9
7 , 9
5 , 9
2 , 9
8  are arranged in ascending order, then what will be 

the sum of first and third fraction in that arrangement? 

	 (1)	 1	 (2)	 9
14

	 (3)	 81
14 	 (4)	 18

5

42.	 While writing the number, ‘Seventy lakhs and Seven’ in figures, Ishwari wrote 
one zero less between the two sevens. Then by how much is the number that 
Ishwari wrote is more or less than the given number?

	 (1)	 more by 77,00,014	 (2)	 less by 77,00,014
	 (3)	 more by 63,00,000	 (4)	 less by 63,00,000

43.	 Which is the biggest fraction among the following?

	 (1)	 10
8 	 (2)	 100

8

	 (3)	 1000
8 	 (4)	 10,000

8
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40.	 ñdaXm Zo 8 à{VeV à.e.à.d. H$s Xa go EH$ ~¢H$ ‘| 25000 én¶m 6 df© Ho$ {bE 

O‘m {H$¶m& 6 df© Ho$ ~mX Cgo {H$VZm ã¶mO {‘boJm?

	 (1)	 12,000 `	 (2)	 2,000 `

	 (3)	 1,500 `	 (4)	 1,200 `

41.	 9
7 , 9
5 , 9
2 , 9
8  Bg g§»¶m H$mo ~‹T>Vo hþE H«$‘ ‘| {bIZo na nhbr d Vrgar g§»¶m H$m 

¶moJ’$b {H$VZm hmoJm? 

	 (1)	 1	 (2)	 9
14

	 (3)	 81
14 	 (4)	 18

5

42.	 g§»¶m "gÎma bmI gmV' {bIVo g‘¶ B©ídar Zo XmoZm| gmV Ho$ ~rM ‘| EH$ eyÝ¶ H$‘ 

{bIm Vmo CgHo$ Ûmam {bIr hþB© g§»¶m Xr hþB© g§»¶m go {H$VZr H$‘ ¶m A{YH$ hmoJr?

	 (1)	 77,00,014 go A{YH$	 (2)	 77,00,014 go H$‘

	 (3)	 63,00,000 go A{YH$	 (4)	 63,00,000 go H$‘

43.	 {ZåZ{b{IV ‘| g~go ~‹S>r {^ÝZ H$m¡Z-gr h¡?

	 (1)	 10
8 	 (2)	 100

8

	 (3)	 1000
8 	 (4)	 10,000

8
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44.		  x	 y	 y	 z
	 +	 x	 z	 z	 y 
		  y	 y	 y	 y
	 Which digits will be there for x, y and z respectively?
	 (1)	 4, 3, 0	 (2)	 2, 4, 2
	 (3)	 3, 6, 2	 (4)	 4, 8, 0

45.	 In a transaction, the cost price is Rs. thirty two hundred and eighty and the selling 
price is Rs. thirty four hundred and seventy. Find out whether the transaction had 
profit or loss and by how much?

	 (1)	 Profit of Rs. 180	 (2)	 Loss of Rs. 190
	 (3)	 Profit of Rs. 190	 (4)	 Loss of Rs. 170

46.	 Which of the following diagram represents the fraction 60
12 ?

	 (1)	 	 (2)	

	 (3)	 	 (4)	

47.	 Find the alternative which does not fall in the group.
	 (1)	 7 × 7 ÷ 7 × 5 = 35	 (2)	 12 – 3 – 5 + 10 = 14 
	 (3)	 5 × 3 + 4 × 2 = 70	 (4)	 10 – 2 × 3 + 5 = 9
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44.		  x	 y	 y	 z
	 +	 x	 z	 z	 y 
		  y	 y	 y	 y

	 x, y, z H$s OJh H«$‘ go H$m¡Z-go A§H$ AmE±Jo?

	 (1)	 4, 3, 0	 (2)	 2, 4, 2
	 (3)	 3, 6, 2	 (4)	 4, 8, 0

45.	 ¶{X ~Îmrg gm¡ Añgr én¶o H«$¶ ‘yë¶ d Mm¡Vrg gm¡ gÎma én¶o {dH«$¶ ‘yë¶ hmo Vmo Bg 

ì¶dhma ‘| {H$VZm bm^ ¶m {H$VZr hm{Z hmoJr?

	 (1)	 180 ` bm^	 (2)	 190 ` hm{Z

	 (3)	 190 ` bm^	 (4)	 170 ` hm{Z

46.	 {ZåZ{b{IV ‘| H$m¡Z-gr AmH¥${V {^Þ 60
12  Ho$ g‘mZ {^Þ Xem©Vr h¡?

	 (1)	 	 (2)	

	 (3)	 	 (4)	

47.	 g‘yh ‘| Z ~¡R>Zo dmbm n¶m©¶ ~VmBE:

	 (1)	 7 × 7 ÷ 7 × 5 = 35	 (2)	 12 – 3 – 5 + 10 = 14 
	 (3)	 5 × 3 + 4 × 2 = 70	 (4)	 10 – 2 × 3 + 5 = 9
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48.	 Roshni started her studies at half past eleven in the morning and finished at 

quarter to two. For how much time did she study?

	 (1)	 3 hours 70 minutes	 (2)	 2 hours 45 minutes

	 (3)	 2 hours 15 minutes	 (4)	 2 hours 30 minutes

49.	 What is the difference between the biggest 3-digit even number and the biggest 

2-digit prime number?

	 (1)	 900	 (2)	 901

	 (3)	 902	 (4)	 903

50.	 One of the Zilla Parishad schools have 60% girls out of 120 and a private 

secondary school of the same village has 55% girls out of 200. Find out the 

total number of girls in that village going to school?

	 (1)	 172	 (2)	 38

	 (3)	 182	 (4)	 110

51.	 What number should be subtracted from six and three quarters thousand to get 

the biggest two digit number ?

	 (1)	 6751	 (2)	 6651

	 (3)	 7026	 (4)	 7126
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48.	 amoeZr gw~h gm‹T>o ½¶mah ~Oo n‹T>Zo Ho$ {bE ~¡R>r Am¡a nm¡Zo Xmo ~Oo CR>r Vmo CgZo Hw$b 

{H$VZr Xoa VH$ n‹T>mB© H$s?

	 (1)	 3 K§Q>o 70 {‘ZQ>	 (2)	 2 K§Q>o 45 {‘ZQ>

	 (3)	 2 K§Q>o 15 {‘ZQ>	 (4)	 2 K§Q>o 30 {‘ZQ>

49.	 VrZ A§H$m| H$s g~go ~‹S>r g‘ g§»¶m Am¡a Xmo A§H$m| H$s g~go ~‹S>r A^mÁ¶ g§»¶m Ho$ 

~rM {H$VZm A§Va hmoJm?

	 (1)	 900	 (2)	 901
	 (3)	 902	 (4)	 903

50.	 {Obm n[afX Ho$ EH$ {dÚmb¶ ‘| 120 ‘| go 60%  b‹S>{H$¶m± h¡& Cgr Jm±d H$s ImOJr 

‘mÜ¶{‘H$ {dÚmb¶ ‘| 200 ‘| go 55% b‹S>{H$¶m± h¢ Vmo Cg Jm±d H$s Hw$b {H$VZr b‹S>{H$¶m± 

{dÚmb¶ OmVr h¡?

	 (1)	 172	 (2)	 38
	 (3)	 182	 (4)	 110

51.	 nm¡Zo gmV hOma ‘| go {H$VZm KQ>m¶m Om¶ {H$ Xmo A§H$m| H$s ~‹S>r go ~‹S>r g§»¶m {‘bo?

	 (1)	 6751	 (2)	 6651
	 (3)	 7026	 (4)	 7126
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52.	 Julie collected Rs. 10 daily in her money bank from 12th May to 26th June. Also 

she added Rs. 100 given by her uncle and Rs. 240 given by her father to buy 

a cake for her birthday. She donated the total amount to Chief Minister Relief 

Fund. How much money did she donate to the Chief Minister Relief Fund?

	 (1)	 Rs. 790	 (2)	 Rs. 350

	 (3)	 Rs. 800	 (4)	 Rs. 780

53.	 Jeevan went to a bank with two notes of each Rs. 50, Rs. 100 and Rs. 500. He 

asked for notes of Rs. 20 in return. How many notes of Rs. 20 will he receive?

	 (1)	 60	 (2)	 65

	 (3)	 55	 (4)	 63

54.	 Find such a number which when multiplied by itself the product we get is equal 

to the product of all the divisors of 27.

	 (1)	 529	 (2)	 27

	 (3)	 9	 (4)	 18

55.	 Solve : 27 ÷ 3 + 6 × 5 = ?

	 (1)	 75	 (2)	 15

	 (3)	 39	 (4)	 33
27
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52.	 Á¶wbr Zo 12 ‘B© go 26 OyZ VH$ H$s H$mbmd{Y ‘| 10 ` à{V{XZ H$s Xa go ‘Zr~¢H$ 
‘| O‘m {H$E hþE én¶o Am¡a ‘m‘m Ho$ Ûmam OÝ‘{XZ na {XE 100 én¶o Ed§ {nVmOr Ho$ 
Ûmam Ho$H$ Ho$ {bE {XE JE 240 én¶o H$mo {‘bmH$a nyar aH$‘ ‘w»¶‘§Ìr ghm¶Vm {Z{Y ‘| 

XoXr Vmo CgZo Hw$b {H$VZo én¶o ‘w»¶‘§Ìr ghm¶Vm {Z{Y ‘| {XE?

	 (1)	 790 `	 (2)	 350 `

	 (3)	 800 `	 (4)	 780 `

53.	 OrdZ Zo 50 ` , 100 ` VWm 500 ` dmbo àË¶oH$ Ho$ Xmo ZmoQ> ~¢H$ ‘| XoH$a Cg am{e 

H$m 20 én¶o dmbm ZmoQ> ‘m±Jm& Vmo Cgo 20 én¶o Ho$ {H$VZo ZmoQ> {‘b|Jo?

	 (1)	 60	 (2)	 65
	 (3)	 55	 (4)	 63

54.	 Eogr g§»¶m ~VmAmo {Og‘| Cgr g§»¶m go JwUm H$aZo na àmá JwUZ’$b 27 Ho$ g^r 

{d^mOH$m| Ho$ JwUZ’$b Ho$ ~am~a hmoVm h¡?

	 (1)	 529	 (2)	 27
	 (3)	 9	 (4)	 18

55.	 hb H$amo.

	 27 ÷ 3 + 6 × 5 = ?
	 (1)	 75	 (2)	 15

	 (3)	 39	 (4)	 33
27
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56.	 Dhanesh bought one and a quarter meter of cloth for pants and one and three 

quarters meter of cloth for shirt. How much meter of cloth did he buy?

	 (1)	 three	 (2)	 three and a quarter

	 (3)	 two and a half	 (4)	 three and three quarters

57.	 Soham was born on 15th June, 2011, which was Thursday. Which was the day 

on his 5th birthday?

	 (1)	 Tuesday	 (2)	 Thursday

	 (3) 	 Wednesday	 (4)	 Friday

58.	 Find the percentage of the shaded portion in the following diagram.

	 (1)	 2 %	 (2)	 25 %

	 (3)	 6 %	 (4)	 75 %

59.	 Side of an equilateral triangle is 10cm. A square of perimeter same as to the 

perimeter of an equilateral triangle is drawn. What will be the side of the square?

	 (1)	 30 cm	 (2)	 8 cm

	 (3)	 7.5 cm	 (4)	 10 cm
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56.	 YZoe Zo n¢Q> Ho$ {bE gdm ‘rQ>a d eQ>© Ho$ {bE nm¡Zo Xmo ‘rQ>a H$n‹S>o {bE Vmo CgZo 
Hw$b {H$VZo ‘rQ>a H$n‹S>o {bE?

	 (1)	 VrZ	 (2)	 gdmVrZ
	 (3)	 A‹T>mB©	 (4)	 nm¡Zo Mma

57.	 gmoh‘ H$m OÝ‘ 15 OyZ 2011, Jwédma H$mo hþAm Vmo CgH$m nm±Mdm OÝ‘{XZ {H$g dma H$mo 
hmoJm?

	 (1)	 ‘§Jbdma	 (2)	 Jwédma

	 (3) 	 ~wYdma	 (4)	 ewH«$dma

58.	 AmH¥${V Ho$ aoIm§{H$V ^mJ H$m à{VeV {ZH$m{bE>>&

	 (1)	 2 %	 (2)	 25 %
	 (3)	 6 %	 (4)	 75 %

59.	 EH$ g‘~mhþ {Ì^wO H$s ^wOm 10 go‘r h¡ ¶{X Bg {Ì^wO H$s n[a{‘{V Ho$ ‘mndmbm dJ© 

~Zm¶m OmE Vmo dJ© H$s ^wOm H$s b§~mB© {H$VZr hmoJr?

	 (1)	 30 go‘r	 (2)	 8 go‘r

	 (3)	 7.5 go‘r	 (4)	 10 go‘r
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Q. 60. and 61
	 Answer the following questions with the pictograph given below: 

	 (scale : 1  = 25 students)

Types of Game Number of students

Football
	 	 	

Cricket
	 	 	 	

Basket ball
	 	

Kabaddi
	 	 	 	 	

Kho-Kho
	 	 	

60.	 How many times are Kabaddi players to the Basket ball players?
	 (1)	 50	 (2)	 3
	 (3)	 150	 (4)	 5

61.	 By how much is number of Cricket players and Basket ball players less than 
number of football players and Kabaddi players?

	 (1)	 75	 (2)	 50
	 (3)	 25	 (4)	 150



0301-Hindi Set-A 	  25 of 32	 P.T.O.

SPACE FOR ROUGH WORK

gyMZm àíZ H«$. 60 VWm 61

	 ZrMo {XE J¶o {MÌmboI Ho$ AmYma na àíZm| Ho$ CÎma {bImo:

 	 (n¡‘mZm : 1  = 25 {dÚmWu)

Iob Ho$ àH$ma {dÚmWu g§»¶m

’w$Q>~m°b
	 	 	

{H«$Ho$Q>
	 	 	 	

~mñHo$Q>~m°b
	 	

H$~È>r
	 	 	 	 	

Imo-Imo
	 	 	

60.	 H$~È>r IobZo dmbo {dÚmWu ~mñHo$Q>~m°b IobZo dmbo {dÚm{W©¶m| Ho$ {H$VZo JwZo h¢?

	 (1)	 50	 (2)	 3
	 (3)	 150	 (4)	 5

61.	 {H«$Ho$Q> d ~mñHo$Q>~m°b IobZo dmbo {dÚm{W©¶m| H$s g§»¶m ’w$Q>~m°b d H$~È>r IobZo dmbo 

{dÚm{W©¶m| H$s g§»¶m go {H$VZr H$‘ h¡?

	 (1)	 75	 (2)	 50
	 (3)	 25	 (4)	 150
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62.	 How many times are the number of edges of cuboid to the number of surfaces 

of cuboid?

	 (1)	 double	 (2)	 three times

	 (3)	 half	 (4)	 four times

63.	 In Nana Patil’s farm house, there are 300 sacks of grains. Out of which 35% 

sacks are of wheat, 20% sacks are of Jowar, 15% sacks are of Tur dal and 

remaining are the sacks of Soyabeans. Find the number of Soyabean sacks at 

the farm house.

	 (1)	 60	 (2)	 120

	 (3)	 105	 (4)	 90

64.	 Find the length of wire required to fence 3 times the two sides of a square 

shaped ground having area 144 sq. m.

	 (1)	 48 m	 (2)	 14.4 m

	 (3)	 72 m	 (4)	 24 m

65.	 In the month of May, two and a quarter lakhs tourists visited Mahabaleshwar and 

three quarter lakhs visited Ajanta - Verul caves. How many more tourists visited 

Mahabaleshwar than Ajanta - Verul caves?

	 (1)	 75,000	 (2)	 1,25,000

	 (3)	 3,00,000	 (4)	 1,50,000
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62.	 KZm^ Ho$ H$moam| H$s g§»¶m, KZm^ Ho$ n¥ð>m| H$s g§»¶m H$s {H$VZo JwZm h¡?

	 (1)	 Xmo JwZm	 (2)	 VrZ JwZm

	 (3)	 AmYm	 (4)	 Mma JwZm

63.	 ZmZm nmQ>rb Ho$ JmoXm‘ ‘| 300 ~moar AZmO h¡& ¶{X Cg‘| go 20% ~moar Ádma H$s, 

35% ~moar Johÿ± H$s, 15% ~moar Aaha H$s Am¡a ~Mo hþE ~moao gmo¶m~rZ Ho$ hm|, Vmo Cg‘| 

gmo¶m~rZ Ho$ {H$VZo ~moao h¢?

	 (1)	 60	 (2)	 120

	 (3)	 105	 (4)	 90

64.	 144 Mm¡.‘r. joÌ’$b dmbo EH$ dJm©H$ma ‘¡XmZ Ho$ Xmo Va’$ VrZ ’o$ao Vma H$m ~m‹S> bJmZo 

Ho$ {bE {H$VZm b§~m Vma bJoJm?

	 (1)	 48 ‘r	 (2)	 14.4 ‘r

	 (3)	 72 ‘r	 (4)	 24 ‘r

65.	 ‘B© ‘hrZo ‘| ‘hm~boída ‘| gdm Xmo bmI n¶©Q>H$m| Zo Am¡a AqOR>m, doéi Jw’$m ‘| nm¡Zo 

bmI n¶©Q>H$m| Zo ^|Q> Xr& Vmo ‘hm~boída ‘| AqOR>m, doéi Jw’$m go {H$VZo A{YH$ n¶©Q>H$m| 

Zo ^|Q> Xr?

	 (1)	 75,000	 (2)	 1,25,000

	 (3)	 3,00,000	 (4)	 1,50,000
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66.	 552 minutes = ................. hours and ............... minutes.
	 (1)	 9, 52	 (2)	 5, 52
	 (3)	 9, 12	 (4)	 5, 12

67.	 2400 papers = ................. Ream papers.
	 (1)	 100	 (2)	 75
	 (3)	 50	 (4)	 5

68.	 Ramu purchased 45 litres milk with the rate Rs. 35 per litre. He sold all the 
milk with profit Rs. 315. Find the selling price of milk per litre.

	 (1)	 Rs. 37	 (2)	 Rs. 38
	 (3)	 Rs. 42	 (4)	 Rs. 44

69.	 A wire measuring 15 m, 50 cm was divided equally into 10 parts. What is the 
length of each part?

	 (1)	 155 cm	 (2)	 155 m
	 (3)	 150 cm	 (4)	 150 m

70.	 Akash purchased a cycle for Rs. 3250 and sold it for Rs. 2375 after a year. Did 
he make profit or loss and how much?

	 (1)	 Profit of Rs. 775	 (2)	 Profit of Rs. 875
	 (3)	 Loss of Rs. 775	 (4)	 Loss of Rs. 875

71.	 If divisor = 105, Quotient = 4250, Remainder = 75, then dividend = ?
	 (1)	 446250	 (2)	 446325
	 (3)	 446225	 (4)	 446625
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66.	 552 {‘ZQ> = ................. K§Q>m ............... {‘{ZQ>
	 (1)	 9, 52	 (2)	 5, 52
	 (3)	 9, 12	 (4)	 5, 12

67.	 2400 H$mJO AWm©V {H$VZo [a‘ H$mJO?
	 (1)	 100	 (2)	 75
	 (3)	 50	 (4)	 5

68.	 am‘y Zo 35 ` à{V {bQ>a H$s Xa go 45 brQ>a XÿY IarXm& ¶{X CgZo gmam XÿY 315 
én¶m bm^ boH$a ~oM {X¶m, Vmo XÿY H$m {dH«$¶ ‘yë¶ (à{V brQ>a) {H$VZm?

	 (1)	 37 `	 (2)	 38 `

	 (3)	 42 `	 (4)	 44 `

69.	 15 ‘r. 50 go‘r b§~o Vma H$mo 10 g‘mZ ^mJ H$aZo na àË¶oH$ ^mJ H$s b§~mB© {H$VZr 
hmoJr?

	 (1)	 155 go‘r	 (2)	 155 ‘r
	 (3)	 150 go‘r	 (4)	 150 ‘r

70.	 3250 én¶o ‘| IarXr gmB{H$b AmH$me Zo EH$ df© Ho$ ~mX 2375 én¶o ‘| ~oM {X¶m Vmo 
Bg ì¶dhma ‘| Cgo bm^ hþAm {H$ hm{Z? {H$VZr?

	 (1)	 bm^ 775 `	 (2)	 bm^ 875 `

	 (3)	 hm{Z 775 `	 (4)	 hm{Z 875 `

71.	 ^mOH$ = 105, ^mJ’$b = 4250, eof = 75, Vmo ^mÁ¶ {H$VZm?
	 (1)	 446250	 (2)	 446325
	 (3)	 446225	 (4)	 446625
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72.	 What will be the cost of the cloth purchased at the rate Rs. 52 per meter for 
25 students each requiring one and a half meter ?

	 (1)	 1950	 (2)	 1850
	 (3)	 2050	 (4)	 2150

73.	 Solve :

	 4
7

4
3

3
4

#+  = ?

	 (1)	 3
10 	 (2)	 11

4

	 (3)	 16
19 	 (4)	 11

14

74.	 Kerela express starts at 4  :  10 in the morning from Nagpur and reaches 
Tiruvananthapuram at 14  :  15 the next day. How much time does it take to travel 
from Nagpur to Tiruvananthapuram?

	 (1)	 34 hours 5 minutes	 (2)	 34 hours
	 (3)	 22 hours 5 minutes	 (4)	 26 hours 15 minutes

75.	 In Saraswati Vidyalay, 24 packets of milk having each 500ml of milk was bought 
and was heated. It was distributed equally among 60 students. Find out how much 
ml of milk was given to each student.

	 (1)	 250 ml	 (2)	 150 ml
	 (3)	 200 ml	 (4)	 175 ml
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72.	 à{V {dÚmWu S>o‹T> ‘rQ>a Ho$ {hgm~ go 25 {dÚm{W©¶m| Ho$ {bE H$n‹S>m IarXm J¶m& ¶{X 

H$n‹S>o H$m ‘yë¶ 52 ` à{V‘rQ>a hmo Vmo Hw$b {H$VZo én¶o IMm© AmEJm?

	 (1)	 1950	 (2)	 1850

	 (3)	 2050	 (4)	 2150

73.	 hb H$amo&

	 4
7

4
3

3
4

#+  = ?

	 (1)	 3
10 	 (2)	 11

4

	 (3)	 16
19 	 (4)	 11

14

74.	 ZmJnwa go gw~h 4  :  10 ~Oo Ny>Q>Zo dmbr Ho$ab E³gàog Xÿgao {XZ 14  :  15 ~Oo {VéAZ§Vnwa‘ 

nhþ±MVr hmo Vmo ZmJnya go {VéAZ§Vnwa‘ H$s ¶mÌm ‘| {H$VZm g‘¶ bJVm h¡?

	 (1)	 34 K§Q>o 5 {‘{ZQ>	 (2)	 34 K§Q>o

	 (3)	 22 K§Q>o 5 {‘ZQ> 	 (4)	 26 K§Q>o 15 {‘{ZQ> 

75.	 gañdVr {dÚmb¶ ‘o§ 500 {‘br Ho$ 24 n¡Ho$Q> XÿY AmE, XÿY Ja‘ H$aHo$ 60 {dÚm{W©¶m| 

‘| g‘mZ én go ~m±Q>m J¶m Vmo àË¶oH$ {dÚmWu H$mo {H$VZo {‘br XÿY {‘bm?

	 (1)	 250 {‘br	 (2)	 150 {‘br

	 (3)	 200 {‘br	 (4)	 175 {‘br



SPACE FOR ROUGH WORK

0301-Hindi Set-A 	  32 of 32	




